
20,00

12
8,

40

Rear solder terminals

Hex M3 nut (4x)

M3 lock washer (4x)

M3 flat washer (4x)

DSUB15 female receptacle (2x)

4-40 lock screw (4x)

Sleeve for M2.5 collar screw (2x)

M2.5 collar screw (2x)

M3 flat washer (4x)

2,
50

8,
60

For Illustration Only
Not For Manufacturing Purposes


